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Name

Comet Chemistry
Factor Label Worksheet

On the planet Rigel 12, Rigellians have developed a system of measurements called S.U_, or Systems
Universal. Here is the conversion table for the measurements of distance:

1 gleem = 27 blops

1 blop = 34 riddigs

1 riddig = 42 chirks

1 chirk = 9 fuggles

10 fuggles = 52 hippers

2.5 hippers = 1.2 zookas

1 zooka = 7 wenzels

1 wenzel = diameter of 1 larval stage weevip

Using this information you are to answer the following questions (and of course -
SHOW ALL WORK). Use ONLY the Factor Label Method to solve each problem.

1. How many gleems in one riddig? _1
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2. If you have 7 gleems how many blops do you have?
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3. How many zookas in one fuggle?
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4. If you have 7 chirks, how many riddigs do you have?
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5. The distance from Rigel 12 to Vulcan is 3,000 gleems. How many chirks is it from
Rigel 12 to Vulcan?
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6. The suze of the Nubus Galaxy is only 2. 74/x 10° fuggles How mcmy blops is this?
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7. How many larval stage weevips would you,hayzjwe up side by side to measure 42
wenzels? " \
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